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ko 323 963, 095
1 4 # (TPE) 2 A GF RO PR 19 765
2 4 # (TPE) =~ = (KIX) % w205 (ANC) 7 4% (ORD) % w05 (ANC) < B (KIXD |4 4 (TPE) 4 28, 213
3 % # (TPE) < (KX % s iin (ANC) 7 4 # (ORD) % e (ANC) 4 # (TPE) 1 28,213
4 4 # (TPE) =~ = (KIX) 10 1,704
5 % # (TPE) A4 " (KKJ) L (= 2 )(NRT) 1 2,140
6 % # (TPE) + 28 (KUL) 1 3, 267
7 4 # (TPE) & v & (NGO) * 3 7R3k (CVG) 5 12, 339
8 4 # (TPE) % 5470 (ANC) I # i~ (ATL) & 4= #7(DFW) % s in (ANC) 4 2 (TPE) 6 29,918
9 % # (TPE) % s (ANC) 7 4% (ORD) % w205 (ANC) 4 7 (TPE) T 19, 533
10 |4 # (TPE) % sudin (ANC) 7 4 & (ORD) & e B (SEA) 4 # (TPE) 2 27,776
11 |%# (TPE) % w25 (ANC) & 9 JFK % w05 (ANC) 4 # (TPE) 5 29, 711
12 %2 (TPE) % sudin (ANC) & 5 (JFK) & 72 B (SEA) % s e (ANO) % # (TPE) 1 16, 550
13 |%# (TPE) % w25 (ANC) #Hw g MIA) kL % (TAID % w75 (ANC) % # (TPE) 2 32, 667
14 |4 # (TPE) % sudin (ANC) # e g (MIA) & e B (SEA) 4 # (TPE) 1 31, 383
15 |4 # (TPE) % w25 (ANC) @ fe g (MIA) ¥ & L (SFO) % # (TPE) 1 17, 685
16 |4 # (TPE) % sudin (ANC) I # g~ (ATL) % sudie (ANC) 4 2 (TPE) 1 26, 024
17 |4 # (TPE) % s din (ANC) &+ 27(DFW) % w205 (ANC) % # (TPE) 3 24,558
18 |4 # (TPE) % sudin (ANC) I # g~ (ATL) % sudia (ANC) = = (KIX) 4 # (TPE) 3 29, 251
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19 |4 (PE) % #4255 (ANC) 24528 (LAY) %A p0(ANC) |4 4 (TPE) 5 29, 438
20 |4 4 (TPE) % 24255 (ANC) & 4 25 (DFV) 5 7§ (SEA) % #4255 (ANC) £ 4 (TPE) | 24, 781
21 |4&# (TPE) % 495 (ANC) & £ 27(DFW) & £ (SFO) % 5455 (ANC) 4 # (TPE) 2 25, 381
22 |4 (TPE) % #4255 (ANC) § 8 (W) 6 12,583
23 |4 # (TPE) £ 2 (CRK) R4 (STX) 6 1,104
24 |4 (TPE) “ 4 % (CRK) 18 1,103
95 |4 (TPE) ﬁ)w?; PS4 b (PR B & ELUD ﬁ)w?; R P y 23,273
26 |%# (TPE) ﬁ)w?; e % £ 4 (PRG) T % (LU 4 # (TPE) 1 21, 209
97 |4 (TPE) ﬁ)w?)ﬂ PSS is(PRY) 4 2 (TPE) 1 20, 818
28 |4 (TPE) ey TEEEE g g e e R D I 23, 224
29 |4 (TPE) E)W?; B 5L WE | 6, 548
30 |4 # (TPE) ZF (BOW) £ 1 (0GN) I 12, 905
31 |44 (TPE) #3 (% 1 )(NRT) 9 2,182
32 |44 (TPE) o 25 (ANS) 14 11, 746
33 |44 (TPE) % % (NKG) #1°4 (CG0) 4 # (TPE) I 3, 061
34 |44 (TPE) 12 (LAY) <R KN 4 # (TPE) 3 25, 164
35 |44 (TPE) 12 (LAY) ¥ & 1 (SFO) 4 # (TPE) 4 25,399
36 |4 4 (TPE) 12 (LAY) s 10, 944
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37 | &4 (TPD) s A (SON) 5 I (HAN) 4 # (TPE) 2 6, 012
38 |4 (TPE) £ & (CKG) 3 1,852
39 |& 4 (TPD) FECE AN |% %45 (ANO) 245 (LAY) | 11, 346
40 |4+ (TPE) & 3% (HKG) 50 809
M |£2(TPE) 5 3% (HKG) % 4255 (ANC) 4 % 713 (CVG) 1 13, 946
42 |42 (TPE) 5 £ 2 OINL) 1 3, 046
43 |£2(TPD) 5 & £ OINL) % i# (HKG) 4 4 (TPE) | 3,144
TR PR § 2 (O (BKKD ﬁ)wz';;” BB s (NS) | & 5 (4 #OBKK) |4 (TPE) 2 24, 330
45 |42 (TPE) § 5 (4 %O (BKK) 1 2,503
46 |%+(TPD) § (e tOBKD |7 r (HAN) £ 2 (TPE) 3 5,127
4T |& 2 PR § 5 (G~ FOBKE | = & (GYD) b & F (LU0 y 12,297
48 |£ 2 (TPD) § 5 (= FOBKK) | = & (GYD) w3 (VIE) b & F(LUD 1 10, 781
49 |&»(TPD) 1 (SZX) 4 # (TPE) 10 908
50 |4 (TPE) % 4 i (CGK) 155 (KUL) £ 2 (TPE) 3 8,184
51 |4+ (TPE) % P (0N 3 891
52 |44 (TPE) 35405 (SIN) 5 £ 2 OIL) 4 # (TPE) y 4,330
53 |44 (TPE) #5401 (SIN) § % (3~ 5% )(BKK) |4 # (TPE) 5 7, 764
54 |4+ (TPE) #5401 (SIN) 2 4,014
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55 |4 (TPE) #74c3 (SIN) # % (PEN) % # (TPE) 2 6, 942
56 |4 4 (TPE) Fra @] 3 (OVB) Jp # F(LUX) 2 11,045
57 |4 (TPE) % (NGB) 5 933
58 |4 (TPE) i (FOC) 6 811
59 |4 (TPE) A M (CAN) 9 830
60 |4 (TPE) # 2 (DEL) & B %48 (FRA) 1.2 (DEL) 4 # (TPE) 2 20, 896
61 |47 (TPE) #5-4 (C6O) £ # (TPE) 1 2,532
62 |4+ (TPE) #i % (PEN) # P (HAN) 4 # (TPE) 2 4,300
63 |£ 7 (TPE) 1 33 (PEN) # AP (SEN) £ # (TPE) 2 7,624
64 |k & ELUXO 2 & = % (KRW) 4 # (TPE) 2 10,128
65 |& & F(LUX = & (GYD) 4 # (TPE) 1 11, 966
66 | & F(LUX) % ® (i= ") (ICN) 4 # (TPE) 1 11,589
67 | ras (KUL) + % (KCH) 5 & 3 (MNL) % # (TPE) 1 4,005
68 |3 % 7R3 (CV6) % 5405 (ANC) %% (% )(NRT) % f (i=")(ICN) |4 # (TPE) 1 13, 252
69 |3 3 7R3 (CVG) % 5405 (ANC) % f (= ")(ICN) 4 # (TPE) 1 12, 578
70 |33 783 (CV6) %% (%8 )(NRT) % (i= ") (ICN) 4 # (TPE) 3 13,210
1 |33 783R(CV6) L & (% = )(NRT) £ # (TPE) 1 12, 703
12 [3#7(O6)  [FEGE AN |4 (TPR) ! 12, 415
73 |% 2 #0a(ANO) # f (=) (ICN) 4 # (TPE) 2 7,565
T4 |% 2 £05(ANO) % # (TPE) 374 1 (SIN) 1 10, 741
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75 |% S 475 (ANC) % # (TPE) % % (HKG) 1 8, 298
76 | L (=2 )(NRT) 4 # (TPE) 53k (0KA) 12 2,780
77 LR (=2 )(NRT) 4 # (TPE) § 5 (F ™~ )(BKK) 1 4,684
78 |4 & (HKG) 4 - (TPE) % e (ANC) 6 8,331
79 |4 # (HKG) 4 #* (TPE) L (% 2 )(NRT) 6 2,958
80 |# 3 (PEN) 4 - (TPE) 5 3,135
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